Chapter 14 solutions to selected END OF CHAPTER exercises 
10th edition Slater

1.
Amount financed = Purchase Price – Down payment

$35,000 – $10,000 = $25,000

Total of monthly payments = # of monthly payments * Amount monthly payment

72 * $380 = $27,360

Total finance charge = Total of monthly payments – Amount financed

$27,360 – $25,000 = $2,360

2.
Amount financed = Purchase Price – Down payment

$299 – $100 = $199

Total of monthly payments = # of monthly payments * Amount monthly payment

12 * $20.50 = $246.00

Total finance charge = Total of monthly payments – Amount financed

$246.00 – $199 = $47

3.

N= 48

I%= 0 Alpha Solve 12.99 (rounded to the hundredths of a percent)

PV= 4450

PMT= –119.37
($5,729.76 ÷ 48)

FV= 0

P/Y= 12

C/Y= 12

Answer: 12.99 %

4.

N= 60

I%= 0 Alpha Solve 15.71(rounded to the hundredths of a percent)

PV= 4100

PMT= –99.07
($5,944 ÷ 60)

FV= 0

P/Y= 12

C/Y= 12

Answer: 15.71%

5.
Solve # 3 for the payment amount to check.

N= 48

I%= 13

PV= 4450

PMT= 0 Alpha Solve –119.38

FV= 0

P/Y= 12

C/Y= 12

Answer: $119.38

6.
Solve #4 for the payment amount to check.

N= 60

I%=15.5

PV= 4100

PMT= 0 Alpha Solve –98.62

FV= 0

P/Y= 12

C/Y= 12

Answer: $98.62

(# 7 – # 9 see Slater textbook. TI-83/84 special keystrokes are not used for these problems)

10.
10% down → $8,500 * .10 = $850 down

N= 12

I%= 11

PV= 7650 
(loan amount)

PMT= 0 Alpha Solve –676.12

FV= 0

P/Y= 12

C/Y= 12

Answer: Payment = $676.12

Total repaid = $676.12 * 12 = $8,113.44
Amount finance charges = $8,113.44 – $8,000 = $113.44

11.
15% down → .15 * $29,386 = $4,407.90

N= 48

I%= 7.5

PV= 24978.10
(Purchase price – down payment)

PMT= 0 Alpha Solve –603.94

FV= 0

P/Y= 12

C/Y= 12

Answer: Payment = $603.94

12.
a.
Amount financed = Purchase Price – Down payment

 $7,880 – $0= $7,880

b.
Total of monthly payments = # of monthly payments * Amount monthly payment

$185.83 * 60 = $11,131.80

Total finance charge = Total of monthly payments – Amount financed

$11,131.80 – $7,880 = $3,251.80

c.
Use calculator to find interest rate.

N= 60

I%= 0 Alpha Solve 14.53

PV= 7880

PMT= –185.53

FV= 0

P/Y= 12

C/Y= 12

Answer: Interest rate = 14.53%

13.
a.
Amount financed = Purchase Price – Down payment

 $4,100 – $50 = $4,050

b.
Total of monthly payments = # of monthly payments * Amount monthly payment

$95.10 * 60 = $5,706

Total finance charge = Total of monthly payments – Amount financed

$5,706 – $4,050 = $1,656


c.
Deferred payment price = total of all monthly payments + down payment

$5,706 + $50 = $5,756
d. APR using TI 83/84 calculator

N= 60

I%= 0 Alpha Solve 14.41

PV= 4050

PMT= –95.10

FV= 0

P/Y= 12

C/Y= 12

Answer: Interest rate = 14.41%

(# 14 – # 16 see Slater textbook. TI-83/84 special keystrokes are not used for these problems)

17.

First American Bank

N= 48

I%= 0 alpha solve 8.00

PV= 20000

PMT= –488.26

FV= 0

P/Y= 12

C/Y= 12

Answer: Interest rate = 8.00%

U.S. Bank

N= 48

I%= 0 alpha solve 8.9999

PV= 20000

PMT= –497.70

FV= 0

P/Y= 12

C/Y= 12

Answer: Interest rate = 8.9999 or 9%


(# 18 – # 19 see Slater textbook. TI-83/84 special keystrokes are not used for these problems)
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